KIT OVERVIEW CATALOGUE

HEAVY VEHICLE PROTECTION KITS

DOC - CTG0022
01 MAY 2020 - REV A

MADE IN
2 7 97 BRITAIN Fire Industry Association

s oBp



RE1850

1x 8.0KG DUAL AGENT - SPCR 199 KIT

DESCRIPTION

The 8.0kg Dual Agent kit has been configured for
your Heavy Vehicle applications.

The kit is for engine compartments up to 4.0m3 and
will have all the parts necessary to provide a SPCR
199 (P-Mark) accredited system.

Larger or smaller engine compartment volumes
require the system to be up-scaled or down-scaled
accordingly.

All kits come complete with a factory filled and
pressurised cylinder, the Reacton Heavy Duty
Vehicle cylinder bracket and all fittings and fixings
for a successful installation. (Please note that Single
& Double Hose clamps will need to be added
depending on your installation.)

[tems such as Manual Actuators, Shutdown, Isolation
and Monitoring systems will need to be added
separately.

P

BASIC SYSTEM CONFIGURATION

FULL BILL OF MATERIALS

QTY PART NUMBER

RE-CTXCE-054-040-ABC
RE-CTXCE-054-040-FFF
RE4035

RE6110

RE6T

RE6T113

RE6940

RE6942

RE6Q4L7

RE6948

RE69S1

10 RE6956

10 RE69S7

3 RE6964
4 RE6968
1 RE6969
4 RE6983
2

1

1

o BN =2 N =2 NN = =

RE6985
RE7013
RE7014
100 RE7079
1 RE7086
2 RE7099
2 RE7126
4 RE744
4 RE7145
2 RE7165
10 RE7212
34 RE7232
46 RE7233
7 RE7234
1 RE7243-25
2 RE7291
3 RE7400

DESCRIPTION

25 bar CE - 4.0kg CTX Indirect Dry Powder System
25 bar CE - 4.0kg CTX Indirect Fluorine FF System
4.0kg & 6.0kg Heavy Duty Vehicle Bracket

Reacton Branded Adhesive Caution Label 297 x 210
Reacton Branded Adhesive Do Not Kink Label 58 x 72
Reacton Adhesive Cylinder Maintenance Label A5
3/8 Hose Connector: Tee - 3/8"M, 3/8" M, F -Swivel
3/8" - 0.25m Hose

45° Swl Elbow 3/8" Male - 3/8" BSPT

90° Swl Eloow 3/8" Male - 3/8" BSPT

BSP Male Bulkhead

3/8" BSP Flat Washer

3/8" BSP Shakeproof Washer

3/8" - 3.00m Hose

3/8" -1.00m Hose

3/8" - 0.50m Hose

Elbow - 3/8" Male - 3/8" Female

Tee - Equal - 3/8" male

QR Twinseal Swl Tee: 1/8" Threaded - 6/4mm Tube
QR Twinseal Swl Elbow: 1/8" Threaded - 6/4mm Tube
Self Drilling Screw, Hex 8mm x 25mm

Double Ended Cable Ties - BLACK 300x4.8mm x 100
FC60 - Type Nozzle Wet Chemical 60°

Tamper Seal

Nozzle Blow off Caps, Slip-On, Silicone, RED 3/8

LR — Type Nozzle — Dry Powder

Nozzle Blow off Caps, Slip-On, Silicone, BLUE 3/8"
R108 4/6 BLUE Detection Tube

P-Clips: Steel Rubber Lined 6mm

P-Clips: Steel Rubber Lined 19mm

Component Bracket

25 bar - End of the Line (EOL): 6/4mm Tube
Reacton Integrated Valve Lock

Adaptor - 3/8" Cone - 1/4" BSPP



RE1851

1x 12.0KG DUAL AGENT - SPCR 199 KIT

DESCRIPTION

The 12.0kg Dual Agent kit has been configured for
your Heavy Vehicle applications.

The kit is for engine compartments up to 4.0m3 and
will have all the parts necessary to provide a SPCR
199 (P-Mark) accredited system.

Larger or smaller engine compartment volumes
require the system to be up-scaled or down-scaled
accordingly.

All kits come complete with a factory filled and
pressurised cylinder, the Reacton Heavy Duty
Vehicle cylinder bracket and all fittings and fixings
for a successful installation. (Please note that Single
& Double Hose clamps will need to be added
depending on your installation.)

[tems such as Manual Actuators, Shutdown, Isolation
and Monitoring systems will need to be added
separately.

R
S

v[

BASIC SYSTEM CONFIGURATION

FULL BILL OF MATERIALS

QTY PART NUMBER

RE-CTXCE-075-060-ABC
RE-CTXCE-075-060-FFF
RE4035

RE6T10

RE6T

RE6T13

RE6940

RE6942

RE6Q47

RE6948

RE69S1

RE6956

RE69S7

RE6964

RE6966

RE6968

RE6969

RE6983

RE6985

RE7013

RE7014

105 RE7079

1 RE7086
2 RE/099
2 RE/126
6  RE7144
5

1

2

0 O N = N = NN = =

NN
o O

- = N g = O N D

RE7145
RE7154
RE7165
10 RE7212
34 RE7232
53 RE7233
7 RE7234
1 RE7243-25
2 RE7291
4 RE7400

DESCRIPTION

25 bar CE - 6.0kg CTX Indirect Dry Powder System
25 bar CE - 6.0kg CTX Indirect Fluorine FF System
4.0kg & 6.0kg Heavy Duty Vehicle Bracket

Reacton Branded Adhesive Caution Label 297 x 210
Reacton Branded Adhesive Do Not Kink Label 58 x 72
Reacton Adhesive Cylinder Maintenance Label A5
3/8 Hose Connector: Tee - 3/8" M, 3/8" M, F -Swivel
3/8" - 0.25m Hose

45° Swl Eloow 3/8" Male - 3/8" BSPT

90° Swl Elbow 3/8" Male - 3/8" BSPT

BSP Male Bulkhead

3/8" BSP Flat Washer

3/8" BSP Shakeproof Washer

3/8" - 3.00m Hose

3/8" - 200m Hose

3/8" -1.00m Hose

3/8" - 0.50m Hose

Elbow - 3/8" Male - 3/8" Female

Tee - Equal - 3/8" male

QR Twinseal Swl Tee: 1/8" Threaded - 6/4mm Tube
QR Twinseal Swl Elbow: 1/8" Threaded - 6/4mm Tube
Self Drilling Screw, Hex 8mm x 25mm

Double Ended Cable Ties - BLACK 300x4.8mm x 100
FC60 - Type Nozzle Wet Chemical 60°

Tamper Seal

Nozzle Blow off Caps, Slip-On, Silicone, RED 3/8

LR - Type Nozzle — Dry Powder

LR - Type Nozzle — Dry Powder

Nozzle Blow off Caps, Slip-On, Silicone, BLUE 3/8"
R108 4/6 BLUE Detection Tube

P-Clips: Steel Rubber Lined 6mm

P-Clips: Steel Rubber Lined 19mm

Component Bracket

25 bar - End of the Line (EOL): 6/4mm Tube
Reacton Integrated Valve Lock

Adaptor - 3/8" Cone - 1/4" BSPP



RE1852

1x 15.0KG DUAL AGENT - SPCR 199 KIT
DESCRIPTION BASIC SYSTEM CONFIGURATIO

The 15.0kg Dual Agent kit has been configured for
your Heavy Vehicle applications.

2 HZ
v(

The kit is for engine compartments up to 4.0m3 and
will have all the parts necessary to provide a SPCR <3
199 (P-Mark) accredited system.

Larger or smaller engine compartment volumes . ' \ Bl
require the system to be up-scaled or down-scaled ‘g\/ o

accordingly.

All kits come complete with a factory filled and

pressurised cylinder, the Reacton Heavy Duty

Vehicle cylinder bracket and all fittings and fixings L
for a successful installation. (Please note that Single 7

& Double Hose clamps will need to be added
depending on your installation.)

[tems such as Manual Actuators, Shutdown, Isolation
and Monitoring systems will need to be added

separately.
FULL BILL OF MATERIALS
QTY PART NUMBER DESCRIPTION
1 RE-CTXCE-120-090-ABC 25 bar CE - 90kg CTX Indirect Dry Powder System
1 RE-CTXCE-075-060-FFF 25 bar CE - 6.0kg CTX Indirect Fluorine FF System
1 RE4035 4.0kg & 6.0kg Heavy Duty Vehicle Bracket
1 RE4036 90kg Heavy Duty Vehicle Bracket
2 RE6N10 Reacton Branded Adhesive Caution Label 297 x 210
7 RE&M Reacton Branded Adhesive Do Not Kink Label 58 x 72
1 RE6113 Reacton Adhesive Cylinder Maintenance Label A5
2 RE6940 3/8 Hose Connector: Tee - 3/8" M, 3/8" M, F -Swivel
1 RE6942 3/8" - 0.25m Hose
2  RE6947 45° Swl Eloow 3/8" Male - 3/8" BSPT
6 RE6948 90° Swl Eloow 3/8" Male - 3/8" BSPT
8  RE6951 BSP Male Bulkhead
20 RE6956 3/8" BSP Flat Washer
20 RE6957 3/8" BSP Shakeproof Washer
4 RE6Q64L 3/8" - 3.00m Hose
2 RE6966 3/8" - 200m Hose
6 RE6968 3/8" -1.00m Hose
1 RE6969 3/8" - 0.50m Hose
5 RE6983 Elbow - 3/8" Male - 3/8" Female
3 RE6985 Tee - Equal - 3/8" male
1 RE7/013 QR Twinseal Swl Tee: 1/8" Threaded - 6/4mm Tube
1 RE7014 QR Twinseal Swl Elbow: 1/8" Threaded - 6/4mm Tube
105 RE7079 Self Drilling Screw, Hex 8mm x 25mm
1 RE7086 Double Ended Cable Ties - BLACK 300x4.8mm x 100
2  RE7099 FC60 - Type Nozzle Wet Chemical 60°
2 RE7126 Tamper Seal
6 RE7144 Nozzle Blow off Caps, Slip-On, Silicone, RED 3/8
5 RE7Z4S5 LR - Type Nozzle — Dry Powder
1 RE7154 FF — Type Nozzle — Dry Powder
2  RE7165 Nozzle Blow off Caps, Slip-On, Silicone, BLUE 3/8"
10  RE7212 R108 4/6 BLUE Detection Tube
34 RE7232 P-Clips: Steel Rubber Lined 6mm
53 RE7233 P-Clips: Steel Rubber Lined 19mm
7 RE7234 Component Bracket
1 RE7243-25 25 bar - End of the Line (EOL): 6/4mm Tube
2 RE7291 Reacton Integrated Valve Lock
4 RE7400 Adaptor - 3/8" Cone - 1/4" BSPP



*REACTON

FIRE SUPPRESSION

REACTON EUROPE

Address: 14 Baynes Place, Waterhouse Business Park, Chelmsford,
Essex, CM12QX, United Kingdom

Phone:  +44 (0) 1245 930 296

email: info@reactonfire.com

welb: www.reactonfire.com

REACTON NORTH AMERICA

Address: 23335 N 18th Dr #140, Phoenix,
AZ 85027, USA

Phone:  +1844 732 2866

email: info@reactonfirecom

web: www.reactonfirecom

REACTON SYSTEMS PROTECT

REACTON UNITED ARAB EMIRATES
On-Road and Off-Road Vehicles

Address: Business Center, Building A3, Dubai World Central, *  Residential Kitchens
Dubai, United Arab Emirates : Manufacturing and Machining Equipment
. Industrial Equipment
Phone:  +97150 236 2357 . Heavy Equipment
email:  info@reactonfire.ae * Power Generation

Data Centres

web: www.redctonfire.ae Electrical Control Cabinets

Rl 5y 3 GPa 10 | @) NJMADE IN
Bl M, C€ (rg Exova ||||| @ 1O | () unece N

SE ? Fea Faocaceion Procions 2 i MEMBER. prit | I ﬁland Transport Committee B R ITAI N




